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Paper : Chemistry

Ques # :1

The correct sequence of first ionisation energies of following elements is :
1) Mg <Na<AI<P<S
2)P<S<Mg<Al<Na
3) Na<Mg <AI<P<S
4)Na<Al<Mg<S<P

fArfaf@d dcal & T T SAT FT AN HFAE
1) Mg<Na<AI<P<S
2) P<S<Mg<Al<Na
3) Na<Mg<AI<P<S
4) Na<Al<Mg<S<P

Ques # :2

Which of the following elements have positive value of first electron affinity ?
1) Li

2) Be

3) B

4) C

frafaf@a F ¥ PR doca AT TUH7 FAFA T AT FI AT YATCAT ¢ 2

1) Li
2) Be
3) B
4) C
Ques # :3

Select the incorrect statement :

1) Large negative ion favours covalency.

2) Large positive ion favours covalency.

3) Large charge on positive ion favours covalency.
4) Large charge on negative ion favours covalency.

T HYA FT 9T HIfD

1) g1 Homaa TeaarsTadT & GHYST TR |

2) 93T =TT HEHASTehaT T GHYT HLaT § |

3) AT U 3TV AT e HASThdT T FAIT FIAT R |
4) HUTRIST W 3T 3T HgaAToTehdl ol FATT AT |

Ques # 4

Which of the following has largest bond angle ?
1) H,0

2) NH;

3) Has

4) ly”
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ffaf@a # @ fFaer 9 For rfRFaa 2

1) H,0
2) NHs3
3) HsS
4) 15

Ques # :5

The ion having largest ionic radius among the following is :
D Na™

2) F

3) CI

4) K+

AFfaf@d 7 @ 3 ST 3afas R ae9d s ¢ :

) Na”
2) F
3) CI
4) |,{+
Ques # :6

Which element out of the following will have lowest value of ionic radius for its tripositive ion ?

1) Yb
2) Ho
3) Sm
4) Pr

Arafaf@a A @ 9 doca & RUarcHas 3 Y 3mafas BAT F1 AT G99 FH 219 2

1) Yb
2) Ho
3) Sm
4) Pr

Ques # 7

The correct decreasing order of electronegativity for following elements of first group of periodic table is :
1) Li>Na>Rb >Cs

2) K>Na>Rb >Cs

3)Cs>K>Na>Li

4)Rb >(Cs >K > Na

1T WROT F J4H F91 & fAeafa i@ deal H RAgga HomcAFar T T gear Hd ¢ :
1) Li>Na>Rb>Cs
2) K>Na>Rb>Cs
3) Cs > K >Na> Li
4) Rb>Cs>K>Na

Ques # :8

Which of the following properties show only an increasing trend from right to left in the third period of
periodic table ?

1) Electronegativity
2) lonisation Energy
3) Atomic Radius

4) Density
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farafaf@a & @ Flear o7 smad Aol F R Arad & g § I Fao g1 FH TSRS FIATE ?
D) faega womeasmar

2) 3T FaA

3) qRaATOdT s

4) geeg

Ques # 9

Hybridization of sulphur atomin 5F4 moleculeis :

1) op
2) sp°d
3) dsp?
4) spd?

SFy 3107 # oW WA 6T FH{OT Jaeel §

1) sp?
2) spid
3) dsp?
4) spid?
Ques # :10

The molecule shows the paramagnetic behavior is :

1) L
2) Bs
3) Co
4)  Ns

3T ST AT gFahIT TR GATAT o :

1) Lis
2) B
3) Cs
4 N
Ques # :11

Which of the following is diamagnetic in nature ?
D 0O

2) 077

3) Of

4) DEE_

frrafaf@a & & fradr vefa afagrada ¢ 2
1) 0O

2) 0

3) Dg_

4) 0%

Ques # :12

Comolecule possesses :
1) one ¢ bond
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2)one c bondand one © bond
3) two m bonds
4) one g bond andtwo © bonds

C, 9] # faeaAe ¢ :

1) Tsh o dcdl

2) T ¢ v @ U T deel
3)Er T ded

4)TUh ¢ §¢9 @ G T g

Ques # :13

Select the correct statement :
1) Oz is a linear molecule
2) COsis V-shape molecule

3) C05% is trigonal pyramidal in shape
4) N4"is a linearion.

el HUA HT TIT hIA

1) O3 T Y@ HT &

2) CO, Wah V-3TThfd =T 3707 &

3) COs% &1 3mepfa P ™S £ 1
4) Ny T T 349 £

Ques # :14

According to VSEPR theory , a molecule will have a regular shape if its central atom is surrounded by :
1) more bonding electron pairs than the lone pairs of electrons.

2) less bonding electron pairs than the lone pairs of electrons.

3) equal number of bonding electron pairs and lone pairs of €lectrons.

4) only bonding electron pairs.

VSEPR f&id & 3w fFet 3ro7 it snpfar o7 gvelt, afer swant il ooy forr @
D) waprehr gorareTet oAt T 3rdeT 31 deft saaeld geAT A |

2) T ST JIAT T HIET & el Forgiel JoAT 4 |

3) qeft gorrcier ZaAT 3R T ST JeAT Y TSR HEAT H |

4) Frarer deft Sorrcle IeAT 4 |

Ques # :15

Which of the following molecules/ion does not have a regular shape ?
1) CO,

2) CCly

3) NH 4+

4) Hs0

frafaf@a & & frw sropsmaa A arpfar g adi g 2
1) CO;
2) CCly
3) NHy”
4) H0

Ques # :16
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Which pair out of the following has similar shape and also same hybridisation of their central atoms ?
1) BCl3, NH;
2) BCl3, NOg”
3) NO5, H:0

4 NH;  S0,%
frafaf@a 7 & fr oo iy st wamer § 3R 3a3 Ferr RaATor3i 7w oft g 8 2
1) BCl3, NH;

2) BCly, NOg”
3) NO;;_, HEO

4) NH- | 5042_

Ques # :17

Antibonding electrons presentin N» , Os and F> molecules respectively are -

1) 0,2,4
2) 4,2,0
3) 2,4,0
4) 2,0,4

1) 0,2,4
2) 4,2,0
3) 2,4,0
4) 2,0,4
Ques # :18

The set showing correct order of increasing bond order is :
1) 0y <0; < NO < NO*
2)05 =05 = NO* = NO
3)NO*< NO <= 05 = Oy
4) NO=NO" =05 =03

9Gd Y FHH H UG FA AT TS THG o
1) Oy <03 < NO < NO*
2) 05 =05 < NO" < NO
I)NO < NO < 05 < Oy
4)NO=NO" <05 < 03

Ques # :19

Which of the following is the strongest base ?
DF

2)OH"

3) NH5™

4) CHy

AT A gad yedaR ¢ :
) F

2) OH"

3) NHy

4) CHy

Ques # :20
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Select the correct statement :

1) In liquid ammonia ammonium salts act as bases.
2) In liquid ammonia NaNH; acts as an acid.

3) In liquid N2Oy4 nifrates act as acids.
4) In Ho504 acetic acid behaves as a base .

HE! HUA HT TIT hITA :

D) ga &EIfFar & 3AEgd &avr 6IRE &f Re F a4d © |
2) ga AT & NaNH, 3 & aig & ol ¢

3)ad NyOy & wIseT , 31Fel T e cdd6R Wd ¢ |

4) HyS0, & Uffesd 375 aTR& FT oRE cddeR &dT & |

Ques # :21

Select the pair of soft bases :
DH, OH

2)H, CN°

3)NO5, I

4) NH3 , CN-

HG &I & JIH FT Th1 Y
D H, OH

2)H, CN-

3) NOsg™, I

4) NH5, CN-

Ques # :22

With which of the following Ag™ forms more stable complex ?

} F-
2) cr

3) NH5
4) CN-

forafafaa & & 0 & T Ag™ 30e TS Hahel dadT & 7

1) F
2) cr
3) NHs
4) CN-
Ques # :23

Which of the following is most acidic in nature :
1) HF

2) HBr

3) HoS

4) H,Se

Frafafla & @ w7 aed 3w s R w1 2
1) HF

2) HBr

3) Hs5

4) HESE
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Ques # :24

Which of the following is a Lewis base :
1) Sulphur dioxide

2) Sulphur trioxide

3) Carbon monoxide

4) Carbon dioxide

frrafaf@a #F & Fla ar FT amT ¢ 2
1) gow erssitrarss
2) How TISHTFATSS
3) reet ATFaSS
4) 1T STSHTFASS

Ques # :25

Which combination is most stable ?
1) Nal

2) KI

3) RbI

4) Csl

a1 TG N 3w TR E 2
1) Nal
2) KI
3) RbI
4) Csl

Ques # :26

According to Bronsted and Lowry , acid out of the following is :
1) NH;

2) (3032'

3) H;0*

4) CI

swes IR A Rigia & sqan, Amafaf@a A s @
1) NH;

2) CO5%

3) H30*

4) Cr

Ques # :27

Which of the following set does not represent the acid strength correctly ?

1) HOCI = HOBr
2) HCIO = HCIO3

3) H3POy4 < H3PO5
4) H-0 < Ho5

farafaf@a & ¥ Slaar e 3t Yaddr FT1 TET Yeele AgT Hdr 2
1) HOCI = HOBr

2) HCIO = HCIO,

3) H3PD4"~' HgPDQ
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4) HQD = HQS

Ques # :28

Which of the following is a group of soft acids ?
1) Be?*, Mg?*, Ca?*, Sre*

2) Cu*,Ag*, Au*, Hgo®*

3) Fe3* , Co®*, Cr* , Mn?*

4) H* Li", Na*, K*

frrafff@a A ¥ slaurgg el FTaqg 8 2
1) Be?*, Mg?*, Ca®*, Sr**

2) Cut Agt, Au*, Hgo*"

3) Fe3* Co®** . Cr* Mn*

4) H", Li", Na*, K"

Ques # :29

The group of soft bases is :
1) H,O, OH, F°

2) PO4*, 5042, NOy
3) NH3, NoHy , RNH
4)H, I, CO

HG & FTHHE © -

1) Hy0, OH | F

2) PO4*, S04% , NOy
3) NH3, NaHy, RNHz
4 H, I, CO

Ques # :30

The correct outer electronic configration for Ni and Pt are respectively :

1) 3d%4s? - 5d1%6s0
2) 3d8%4s? - 5d%s’
3) 3d194sY ; 5d1%6sY
4) 3d%s1: 5d%6s®

Ni YT Pt & T WEY aTe T gAacle Aeara HAT: ¢
1) 3d®4s? : 5d196s0

2) 3d%4s? - 5d%s"

3) 3d"94509 - 5d19650

4) 3d%4s1: 5d%6s?

Ques # :31

Which of the following possesses highest magnetic moment ?
) o+

2) Co2t

3) Fe3*

4) Nj2+

farafaf@a & @ frasr grahrr smget v wfew ¢ 2
1 cr
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2) Co%*
3) Fed*

4 N2

Ques # :32

In octahedral complexes of a given cation Ag
increases in the following sequence forligands :

1) NH;<CN =Cl=F
2) Cr<F <NH3<CN"
3) NH;=F=ClI<CN-
4) NH;=ClI<CN<F

el €Tl & 3Tseholha Hehel H Ay , foratess

& fOv Tefea #78 & gear & -
I) NH;=<CN =ClI=F
2)  Clr<=F <NH3;<CN-
3) NH3<F<CI<CN"
4) NH;<ClIr=<=CN=<F

Ques # :33

The correct order for CFSE (Ag) is:

1) Sd<4d<3d
2)  4d<s5d<3d
3)  3d<4d<5d
4)  3d<s5d<4d

CFSE (/) &T S8l & © :
1) 5d<4d<3d
2) 4d<5d<3d
3) 3d<4d<5d
4) 3d<5d<4d

Ques # :34

The metal complex [M{Eﬁ}g] exhibits -

1) Geometrical isomerism

2) Optical isomerism

3) Both Geometrical isomerism and Optical isomerism

4) Does not exhibit Both Geometrical isomerism and Optical isomerism

o1g Tahel [M(en);] zafrar & :

D) sanfadha gamagaar

2) yenfRer GATaIIEdT

3) ST qUT YR et GHTaIadn

4) SR qUT YRS THTGITAT ettt gRifdT

Ques # :35

In molecular orbital diagram of [CD{N H3}5]3+ complex ion

number of electrons in non-bonding and antibonding
molecular orbitals are respectively :
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1) 6,0
2) 4,2
3) 3,3
4) 5,1

Hher [Co(NHs)s|3* & morfas et 3R@ 3 Iremiaed
T UTa3aceld Haldhl H Soacid i O&dl hH: b

1) 6,0
2) 4,2
3) 3,3
4) 5,1
Ques # :36

In Fes(CO)g the numberof bridging carbonyl group is/are :

1) One
2) Two
3) Three
4) Four

Feo(CO)g # g Fraifeter HHET i H&am §

1) N Co

2) ar

3) G

4) AT

Ques#:37 — — — —

The IUPAC name of the following complex is:

NH; NH3

1) fac-triamminetrinitritoruthenium (II)
2) mer -triamminetrinitritoruthenium (III)
3) fac-trinitritotriammineruthenium (III)
4) mer-trinitritotriammineruthenium (I1I)

ﬁﬁﬁ'@ﬁﬁ;ﬁﬁlUPhCﬁm%:

NH NO; NO;
N p
s T #

x\‘ //’ ;

H \"M &
5 Ru
H -
| ~
| ~
P
/V.".._..
NH3 NH; NO:

D) werhrar grsurAaesasiRawe @ (1)
2) x@ifdeF crsuFAaeEaAERAwATH (1)
3) BRI CrEATE RIS UFATES I (110)
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4) Y@ TR S TFREE T (11)

Ques # :38

Identify the colour of the complex (A) and (B) :

Co%*(aq) + 4CIT = [CoCl,]*
(A) (B)
1) (A)=Colourless ; (B) =Pink
2) (A)=Colourless ; (B) =Blue
3) (A)=Blue; (B)="Pink
4) (A)=Pink ; (B) =Blue

el (A) AT (B) & TaT UgaIav :

Co?*(aq) + 4CI" = [CoCl]*
(A) (B)

D (A) = @ ; (B) = el

2) (A) =T8T ; (B) = afremr

3) (A)==0elT ; (B) = ITelTaT

) (A) =T 5 (B) = e

Ques # :39

The set of elements having 5 electrons in their outer d-orbitals is :
1)Cr,Mn, Tc
2) Fe , Mo, Re
3) Cr, Mn , Mo
4) Mn , Nb, W

dcal T GHg foIeTah 12 d-FaTh! # 5 FAFelT ¢ -
1) Cr,Mn, Tc
2) Fe , Mo, Re
3) Cr, Mn , Mo
4) Mn , Nb, W

Ques # :40

Which of the following is a set of coloured ions ?
DCu*, Mn?* | Ti¥*
2 v Fedt Co?t

3 Titr Vv3* Mn2*
4)sc? cut, Titt

farafaf@a & & slaar e st FTaAE € 2
D Cu*, Mn®* Ti¥*
2) v&* Fe3* Co?*
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3) Ti4* V3 MnZ*
4) Sc** cu, Ti**

Ques # 41

Which of the following will give maximum number of ions per molecule , in its aqueous solution ?
1) [Pt(NH3)4Cl,]Clo

2) K3[Cr(C204)3]

3) [Co(NH3)4Cl2]Cl

4) Potash alum

farafaf@a F @ slaar s srefr Rerrer & afa 3707 Ta@ 3rftrs wear 7 e &om 2
1) [Pt(NH3)4Cl5]Cl

2) K3[Cr(C304)3]

3) [Co(NH3)4Cl3]Cl

4) grer-freadr

Ques # :42

Oxidation numbers of platinumin [Pt{C-H4)Cls] and
Ks[PtBr4] are respectively :

1 4,4
2) 2,4
3) 4,2
4) 2,2

[PH(CoH4)Cls]” 3R Ko[PtBry] & weifeasr &ir

HTFHIRIOT HGEAT ¢, HHA:

1) 4,4
2) 2,4
3) 4,2
4) 2,2
Ques # :43

The complex ion or molecule having square planar shape is :
D) [MnCl4

2) [Ni(CN)y*

3) Fe(CO)4

4) None of these

"ol AT AT 39T FAuHY Irpfer aot govaah 8 :
1) [MnCI4

2) [NI(CN),*

3) Fe(CO)y

4) sed | @y A6

Ques # :44

Number of methyl groups present in a molecule of 2,2,7-trimethyl oct-6-en-4-yn-3-ol , are :

) 3
2) 4
3 5
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4) 6

2,2,7-CSATA 3iTae-6-§-4-3MSeT-3-3Te F Tap 3] 7 3UTeUT AR Wi M v&A R :

)

1) 3
2) 4
3) 5
4) 6
Ques # :45

IUPAC name of (CH3CH-CH5)4C is:

1) tetra propyl carbon

2) tetra propyl methane

3) 4,4-di n-propyl heptane
4) 4-n-butyl-4-ethyl heptane

(CH3CH2CHy)4C T 5. e &H &
D) 2eifter e

2) erhfe AT

3) 44318 0N g

D 4n Eﬂﬁﬁ-&‘i‘f?\—lﬁm

Ques # :46

The groups showing electron releasing inductive effect are :
1)-NO,, -COOH

2) -Br, -l

3) -0CH3, -CgHs

4) -CHs, (CH3)3C-

gAFCe AT SXTOTh THTT TG R FIA AT HHE € :
1) -NO5 , -COOH

2) -Br, -l

3) -OCH3, -CgHs

4) -CH3, (CH3)5C-

Ques # :47

What is not correct about electromeric effect out of the following ?
1) Presence of multiple bond is essential .

2) Outer attacking reagent is required.

3) it is a permanent effect.

4) m-electron pair is shifted to other atom.

Rrfafed § @ sdvdmd wmE & R RTEd AE
D) o sty dr sufefa smaeas ¢ |
2) STET ITHACTRRY 3HTHeaTeh T HTaRTSAT AT T |

3 agur TS yHa § |
4) m-goagid JIA e WA W EAATRA BT § |

Ques # :48

Most strong acid out of the following is :
1) o - nitrobenzoic acid
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2) m - aminobenzoic acid
3) p - nitrobenzoic acid
4) p - methoxybenzoic acid

fArAfaf@d # ¥ ged s yea e ¥ :
1) o-ATsciaaises 3

2) m - CiAsSSS 315l
3) p - FATSeIESlIE® 3Fd

4) p - ATFEIESISH 3T

Ques # :49

The group showing positive mesomeric effect is :
1) —=NO;

2) -CHO

3) -COOR

4) —OH

UATcAS ARAN THTT TR FI aTeT FAE ¥ :
1) -NO;

2) -CHO

3) -COOR

4) —OH

Ques # :50

What is not true for hyperconjugation ?
1) It is also known as no-bond resonance.

2) Itinvolves overlapping of c-orbital with a T-orbital.
3) It gives stablity to the molecule
4) It is a pseudo type of effect.

FfTagma F RTFTIH T8 2 :

D) 71z erar-der 3iee o Fgena § |

2) s@d v G-FETE , U T-FHald & A JfacddsT &ar g |
3) 7g 3707 Y TS TET FRATE |

) Ig Ueh BEH TPR HI YA E |

Ques # :51

The nucleophile out of the following is :
1) AlCI;

2) SnCly

3) ROH

4) H50

faf@ad dfs=d e
1) AICl5

2) SnCly

3) ROH

4) H,0*

Ques # :52
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Which of the following has highest boiling point ?
1) n-pentane

2) diethyl ether

3) n-butyraldehyde

4) n-butyl alcohol

fafafaa & ¥ fFaer Fau«ae 3Taaqa g ?
Dyt

2) SEuide $2%

3) n-sgfeifesess

4) n-sgfee Yehrgre
Ques # :53

Which of the following compund has lowest boiling point ?
1) o-cresol

2) p-cresol

3) m-bromophenol

4) p-bromophenol

frafaf@a g 7 ¥ rasr Fayas Aeaan g ?
1) o-hrater

2) p-shrarer

3) m-sTATRATer

) p-shAThrerer

Ques # :54

The ratio of carbon atoms in napthalene , anthracene and diphenyl molecules is :
1)4:5:
2)5:7
3)6:7:
4)4:6

wh LK N N

O 3R sTEh T & Jrorait F Freer & TRATLSHT FT AT B 2
1)4:
2)5:
3)6:
4)4:

AN 3 3 W
(Y, IRV, B o) Ne) NIV

Ques # :55

Which of the following compund is not aromatic according to Huckel 4n+2 rule ?
1) Pyridine

2) Anthracene

3) Pyrrole

4) Cycloheptatriene

ghel 4n+2 e & e, fsarfaf@a F @ wlaar s ceits 7@ 82
D e
2) Gt
3) qregier

4) FrsFARTereS
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Ques # :56

The most stable carbanion among the following is :
1) CH;B

2) B

3) CH3CH,®

4) (CH3),CH®

fArafefaa & 9 a9 3 T AT §
1) GH,®

2) CBrR°

3) CH3CH,®

4) (CH3),CH®

Ques # :57

Which of the following bonds possesses highest value of bond energy :
1) C-F

2) C-Cl

3) C-Br

4) C-N

AFAfaT@d d @ 6 3=t Y Ta FAT ST AT Faa JAVFH T .
1) C-F
2) C-Cl
3) C-Br
4) C-N

Ques # :58

Which ofthe following possesses highestvalue of Ky in agueous medium ?
D) CgHsNH;

2) CoHsNH»
3) (CoHsg)loNH
4) (C2Hs)zNH

HefET & & g & ©v ooy Teaa F Ky &1 #9689 3ifHa ¢ 2
1) CgHsNH>

2) CoHsNH,
3) (CoHs)zNH
4) (CoHs)sNH
Ques # :59

Following compound exhibits intramolecular hydrogen bonding :
1) Chloroform

2) Chloral

3) Chloral hydrate

4) p-chlorophenol

feafaf@a 31 sea:3v sesle s g g :
1)
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FARTBIA
2) FeRe
3) Foliel ET33C
4) p-FARIHIATST

Ques # :60

Incorrect statement regarding Stobbe condenastion is :
1) It is a condensation between dialkyl succinate and aldehyde or ketone.

2) The product is a, p —unsaturated dicarboxylic acid.
3) The product is a, B — unsaturated half ester.

4) The condensation is carried out in presence of a base.

TS HUAT F FFat H Td FYAT 8 :
D) 7g sretfoaa afeasie aur efeserss a1 Hiela & ALT o ¢ |

2) 3G a , B - AT SEHEFaTdS IHFd b |
3) 3¢9 a , B - FHJTT Y UECH |
4) FereTeT Teh &R 1 SR A ghard |

Ques # :61

Cannizzaro's reaction is not given by :

1 _CHO

2) ’_CHECHD

(0} (©)

3) CCI;CHO
4) (CH5)3CCHO

et s Reafaf@a garr @ gt and g :
1) _CHO

2) _CH,CHO

() ©)

3) CClaCHO
4) (CH3)3CCHO

Ques # :62

The product of Dieckmann reaction is :
1) a, B — unsaturated aldehyde

2) B-diketone
3) cyclic ketone
4) B-ketoester

A AAfFIT FT3cUC R :

D) a , B-3rddwa Uiesees
2) B-315ehieteT
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3) TEhidTeT
4) p-HrerTex

Ques # :63

Wittig reaction is used for the preparation of :
1) Alkanes

2) Alkenes

3) Alkynes

4) Aldehydes

fafear e fsafaf@a & Ras F ygFa e e :
1) doepet

2) QeehreT

3) trewee

Y tfesgrss

Ques # :64

The main product of Reformatsky reaction is :
1) a, p —Unsaturated Ketone
2) a, p —Unsaturated ester

3) B —hydroxy ester
4) B —diketone

Rosferdt sfafrar s AEar seae 2
1) a, p-3raded Fieh

2) a, p-37qed TR

3) B-grggial TEeX

4) p-s15dhIeT

Ques # :65

The following reaction is known as :

R-COOH + HN; — 1259

1)  Hoffmann's Reaction

RNHs + COs + N>

2)  Curtious Reaction
3)  Perkin's Reaction
4) Schmidt's Reaction

Prafetaa 3G g am § I Jdr 8
R-COOH + HN3 — 12594 RNH,+ CO, + Ny
D) gfeae wfatmar
2) wféaw wf@AtEAT

3 ofde af@fwar
) Rwe @At
Ques # :66

In Baeyer-Villiger oxidation following conversion takes place :
1) aldehyde to acid
2) ketone to acid
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3) ketone to ester
4) Alcohol to ketone

I R_AfIR 3ygas A Arafaf@g aRads glarg 2
D) Ofcsgres @ v

2) T W 35T

3) T & TEeT

4) Yopiglel ¥ et

Ques # :67

Ratio of hydrogen , carbon and nitrogen atoms in a molecule of pyrrole is :
1)5:4:1
2)2:3:4
3)4:5:1
4)2:4:5

IS & T 30T & gISgIete , Hrael IR ATSEIST & TIATOL3HT T eI ST e :
1)5:4:1
2)2:3:4
3)4:5:1
4)2:4:5

Ques # :68

The formation of cyanohydrin from ketone is an example of :
1) electrophilic addition

2) nucleophilic addition

3) nucleophilic substitution

4) electrophilic substitution

PNT ¥ ARAANGTS ZeT ToTeTT FIHHT 3GEROT ¢ :
D) sorereier-Eeigr dter

2) SATSreh-TAEY AT

3) FArfRer-TE) wfaeTde

REELHEES RN

Ques # :69

A compound X on aldol condensation , forms a compund Y , which on dehydration gives 2-butenal . X and Y
are respectively :

1) Ethanal and B-hydroxy butanal

2) Ethanal and 4-hydroxy-4-methyl-2-pentanone
3) Propanone and aldol

4) Propanone and 3-hydroxybutanal

v FfAF X Yesiar Wuerer W o AifAE Y aorar B, S festeltenor o 2-sqdierer &ar @ | A X

IRy FAM:F:
1) vdeter 3{X BETssiaRT sgeae

2) vdS e 3R 4-grSsiedT-4- AT 2-GeATeT
3) greeT 3T Tere
4) oreter 3R 3-gTsgiiege e
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Ques # :70

Formaldehyde undergoes Cannizzaro reaction in presence of concentrated NaOH solution to form :
1) Methanol only

2) methanoic acid only

3) Ethanol and sodium formate

4) methanol and sodium formate

wr{fesEss, @ig NaOH Y 3ufeufa & Sy siffrar garr smar g
D) &aar Adarar

2) gt AAASH 31FT

3) wdater i Aifeas widfe

4) AT 3N Az wiefe

Ques # :71

Benzaldehyde reacts with acetic anhydride in presence of sodium acetate to form 3-phenylpropenoic acid .
This is an example of :

1) Wittig Reaction

2) Crossed Aldol Condensation
3) Perkin Condensation

4) Claisen Condensation

dotfesgrss , AIfzas WiRe 1 3ufufa & RAfRs WAeEeEs ¥ AR w3k 3-FRanRass
IFT TATAT ¢ | T8 AP 3EROT § -

D) ryfear arfaferar

2) AT Yoare Hasle

3) ufdrer GO

1) Forste o=

Ques # :72

CH 3CHECD2N d N

CgHsCHO + (CH3CH;CO):0 Product

The product in the above reactionis :
1)  B-arylacrylicacid

2)  a-methyl cinnamic acid

3)  cinnamicacid

4)  acrylicacid

CHgCHzCDzNE N
CgHsCHO + (CH3CH,CO):0 > 3cdlg

FUX & 715 e § g §
)  p-oReuGies 3a
2) oA BAEw e

3) fEAfEe A
4)  ofpfes e
Ques # :73

Alizarin belongs to :
1) Phthalocyanine dyes
2) Anthraquinoid dyes
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3) Indigoid dyes
4) Azine dyes

tfaafRe mafaf@a @ gwafta s :
D derarafas s

2) YeynfFasitas o

3) 3Pses o

4) ¥t Torh

Ques # :74

When chlorine is passed into a cold solution of anthracene in carbondisulphide , following is obtained :
1) phenanthrene

2) anthracene monochloride

3) anthracene trichloride

4) anthracene dichloride

FTae SIEHCHISS H VY & 303 Rerdd & 519 FaT yaified AT g AT Iea @arg :
D) freiefe

2) Yoyt AFRISS

3) VYT TIEFeRTSS

4) YTt STSFeRTSS

Ques # :75

When benzenediazonium sulphate is warmed in ethanol with copper powder , the product obtained is :
1) CgHsS035H

2) CgH5NH;

3) CgHsNHNH2

4) CgHsCgHs

I A TSN AIH Fehe H HIAT O F ATy vt 7 137 T ST & Y WIee 3e9me ¢ -
1) CgH5504H

2) CgHsNH»

3) CgHsNHNH-

4) CgHsCgHs

Ques # :76

Furan undergoes the Gattermann reaction to give :
1) Furoic acid

2) Furfural

3) acyl furan

4) tetrahydrofuran

T Y ATCTATS HTRTHAT @ FoTad aTelT 3c9TE gam
D) weiges 3l

) e

) e

4) eRTEgIHaY
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Ques # :77

Which of the following does not undergo Diels-Alder reaction :
1) 1,3-butadiene

2) Cyclopentadiene

3) Furan

4) Thiophene

frfaf@a # & #ia Seu-te afRfrar adi qafar § 2
D 1,3-sgerssa

2) grsFoideerss

3) terer

4) e

Ques # :78

The product of the reaction is :

CHClI4 .

‘ ‘ =ona Product
\ /"

N

oK’
.

e T TGHO

CHOD
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.~ ™COOH
"
|
H cl
4) | AN
NZ
Ques # :79

When mixture of acetylene and hydrogen cyanide is passed through a red hot tube, the product is :
1) pyrrole

2) vinyl cyanide

3) pyridine

4) acraldehyde

St ¥Hifeeler T gssioie A1t &1 fAS0T Iod avd Jel A & yarfed frar sirar § at a=ie aren
3?‘11?.'%:

l)qu‘"?,r

2) arsfarel AraeTSs

3) ARSI

) tfeserss

Ques # :80

Which of the following possesses lowest value of pK; among the following -

1) pyrrole

2) pyridine
3) piperidine
4) quinoline

TaefEa 7 8 &9 & v pK, &1 79 989 &7 ¢ .

1) RTer

2) IEEEG]
3) [EIRREGH
4) FgATeleT
Ques # :81

Oxindole is almost completely represented by following structure:

1) @ :,I;ID

N
I
H
2) _OH
N
I
H
"
N g]
I
H

4)
2345
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ifFasTser Y warerer qotaar i@ wv=e=r qarr yefia R smar

N
I
H

OH

1) = -0
oY

N
|
H
2) = I
=
N
I
H
3) = |
=
N
I
H
4) = |
=
N
[
H
Ques # :82

Pyridine when heated with excess of sodamide in toluene solution , it forms :

_-OH
|J.

1) 2-amidopyridine

2) 4-amidopyridine

3) 2,4-diaminopyridine

4) 2,6-diaminopyridine

RS 1 o7« AisEs F ey 7 elager 7 R# g sar @ ot eafaf@a wea gare

D2 ofaer _fde
2) 4-0fAE ARS

3) 2, 4-TENfAAT RS
4) 2, 6-sTSUTEA RS

Ques # :83

College Lecturer Exam - Chemistry-I

The Friedel-Crafts reaction of benzyl chloride gives :

1) diphenylethane

2) dichloro anthracene

3) anthracene

4) mixture of diphenylethane , dichloro anthracene and anthracene

ST FARTSS 1 HIST FIoed FTATFAT T IcT T :
D) srgthfae v
2) gaRY YeymieT

3) CeyrEe

4) ZTEthiael T, STSaaRT VeyrleT 3R YeyrefieT S AT

Ques # :84
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When furan reacts with n-butyl-lithium , the product formed are/is :
1) Furoic Acid

2) 2-lithium derivative and C4H4g
3) 2-butyl derivative
4) 2-lithium-5-butyl derivative

o9 ¥ , n-sgfeel fafas & wfffear #3ar ¢ at aaa aren/are scure & :
1) s 31t

2) 2-fafrs gedeat 3R CyHqo

3) 2-sgfee YT

4) 2-fafe-ssgfee sgeue=

Ques # :85

When thiophene is reduced with hydrogen gas in presence of Raney nickel , it forms :
1) butane and nickel sulphide

2) butene and hydrogen sulphide

3) diethyl sulphide

4) dibutyl sulphide

ST YTATHIT &1 & e FY 3ufeufa 7 ssgiae & ganT Irv=aaeT glar €, Ay area g ¥ :

D) sgea1 31k feher Towrss
2) s7E1eT 3R FTSZTeT TehIss

3) ersuie gewigs

4) sTssgfee Aewiss

Ques # :86

Which of the following is not correct for pyridine :

1) It is basic in nature.

2) It resembles benzene in many of its properties.

3) It is formed by passing a mixture of ethylene and HCN through a red hot tube.
4) When heated with n-butyl lithium, it forms 2-n-butylpyridine.

AT ¥ v RafafR@aT A Faradi adie :

D) 7g eI ypfa A |

2) g7y ager & aor doher & o 8 |

3) 28 ST & Torw wfielier 3i HON T TR%0T Ueh 3o acd 7ol & waTfed [har Smar g |
4) 519 38 n-sgfee fafTs & a1y IR o Srar § oY 78 2-n-sgfee AR somer &

Ques # :87

The correct R/S nomenclature for the followingis :

Br H
HSG_I_ H and CI+CH3
Cl Br
1) Rand S
2) R and R
3) S and R

4) Sand S
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Trafataa & v @8 RIS FHa0T §

Br H

cl Br
D R3S
2) R 3R
3) S 3R R
4) S3R'S
Ques # :88

The comrect R/S nomenclature for the following compoundis :

CHs
H 2 cl
H 3 Cl

CHs

1) 28, 38

2) 2R, 3R

3) 35, 2R

4) 25, 3R

mafaf@a difs & @ a8 RIS JmewoT §

CHs
H - cl
H 3 Cl
CHs
1 28, 38
2) 2R 3R
3) 38 . 2R
4) 2S.3R
Ques # :89

The correct IUPAC name of for the followingis :

CHs
\é 3 _AH 6
—C
He NE =3Ot
~ T T N\H

H
1) Z,E-2 4-hexadiene
2) E,Z-2,4-hexadiene
3) Z,7-2 ,4-hexadiene
4) E,E-2,4-hexadiene

farafaf@a &1 |67 IUPAC &1H ¢ :

1
CH
3\6—ng 6
T ONE =2~ CHs
N

D' 7E-2 4 gamessa
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2) EZ-2AgFErESse
3) 7,72 4gFaTEISSA
4)  E,E-2.4-3FTSISse

Ques # :90

The comrect IUPAC name of the following compoundis :
CI\C ~Br
—C
H‘,.--" "HC|

1) (E)-1-bromo-1 , 2-dichloroethene
2) (Z)-1-bromo-1 , 2-dichloroethene
3) (E)-2-bromo-1, 2-dichloroethene
4) (Z)-2-bromo-1 , 2-dichloroethene

Feafafaa diffe &1 @8 IUPAC a#F § :

u__  ~Cl
D (B)-1-5101-1 , 2-s8eFelRieeisT
2) (2)-15-1 , 2-SEFaR T
3) (B)-2-s-1, 2-ssaelIvdie
1) (2)-2-5#)-1 , 2-SEFATdA

Ques # 91

According to E-Z system the correct configuration for

compounds {(A), (B) , (c) is as follows :

Cl CHs
cl j/:{ﬁ W
clﬁ/# o c H\/D
(B) (C)

1) (AY(B)(C)EZZ
2) (A)(B)(C)EZE
3) (A)(B)(C)ZEE
4) (A)(B)(C)ZEZ

E-Z ueafd & 3rear Adifds (A) |, (B) , (C) & @@r
famae Reafaf@aa ¢

ﬂm%ﬁv

1) (A) (B)(C)EZZ
2)  (AB)(C)EZE
3)  (A)(B)(C)ZEE
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4) (A)(B)(C)ZEZ

Ques # :92

Select the wrong statement among the following :

1) 2-chloropropane has a plane of symmetry .

2) 2-chloropropane is achiral.

3) 2-chlorobutane does not possess a plane of symmetry.
4) 2-chlorobutane is achiral.

fafaf@a & ¥ 199 U= FT 999 A5 :
D 2-FeRoe & gafafy aer g |

2) 2 FARIIO WA & |

3) 2-FeRIsgLe 7 TATAY T FAET QAT |
) 2- Ty e ¥ |

Ques # :93

Which of the following groups is an auxochrome :
1) NOs

2) NO

3) N=N

4) NH,

frafaf@a & & iear @ aviad+ ¢ :
1) NO,
2) NO
3) N=N
4) NH;

Ques # :94

The different kinds of environment of hydrogen atoms in the molecule in NMR spectra is given by :
1) Number of signals

2) Intensity of signals

3) Height of the signals

4) Broadness of the signals

TA.TH.IR. (NMR) FIFET 7 30T & gT831ereT qATO[3 & faffiesr g & aRaer ) forad = sirar
g
D) feaet fr gear
2) faTelt Fr frgar
3) fQaeTell ST FaTS
4) f@eaat dr e

Ques # :95

Number of signals in NMR spectra of ethanol is :

H 1
2) 2
3) 3
4) 6
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TIAT & UA.TH.AR. (NMR) T9FeT H R{adal HT qEargiadr 8 :

1) 1
2) 2
3) 3
4) 6
Ques # :96

The range of finger print region in IR spectra is :

1) 150010 500 cm™

2) 4000to 3000 cm™”
3)3000to 2000 cm™
4) 1500to 3000 cm™”

IEIR. (IR) W A A Re g fr s :
1) 1500 & 500 cm’

2) 4000 & 3000 cm’’
3) 3000 & 2000 cm’

4) 1500 & 3000 cm’'

Ques # :97

The value of M/Z for the molecular ion gives for a compound :
1) Number of protons

2) Molecular weight

3) Number of atoms

4) Molecular Formula

TOTRAS 3T & fAT M/Z 1 &1 el 3iffs & Prmdard
1) gretat & gear

2) 3rrorfaes AR

3) AT Sy T

Y sy

Ques # :98

The intensity of M + 1 peak can be used to know the number of :
1) C atoms only

2) N atoms only

3) Both C and N atoms

4) H atoms only

M + 1 e 3y et F1 3931r ey §&ar S 3 fhar s g

D) &aer ¢ oy

2) e N TRATI

3) ¢ 3R N gt oA
4) Faer H 9T
Ques # :99

The free radical intermediates in chemical reactions are best detected by :
1) IR Spectroscopy
2) NMR Spectroscopy
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3) ESR Spectroscopy
4) UV-Visible Spectroscopy

TraTafas RT3 F Fora Fas segafdal w1 gad el aE ¥ wEaET Aare
D) 3 3R, (IR) TeFeEmIdr O

2) UA.UA.3R. (NMR) EXFSIER T

3) £ TR, (ESR) TFeIEhIdT &

4) g1 &Y. -RATSET (UV-Visible) TIFEIIdT I

Ques # :100

The following transformation is an example of :

#Mg1z — *°Alq3
1) alpha particle bombardment
2) deutron bombardment
3) proton bombardment
4) neutron bombardment

rafaf@a wamaver ve 3ggroT §

Mgz —> 28Al43

D) dowr ot gAY
) e gAY
3)  gfereT gAY

4) gl SHERT
Ques # :101

Identify ' X " in the following nuclear reaction :

228 Ac X + 5a + 3
Do 207 Pb
2 28 Pb
Vo 28 Bi
Y 209Bi

FTeia@a wrfeadRr f@fhar & * X ' & 9g=niav :

228 Ac X + 5a + 38
D 297 Pb
2) 295 Pb
3) “93 Bi
K 209Bi
Ques # :102

The SI unit of radioactivity is :
1) Becquerel
2) curie
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3) microcurie
4) disintegrations per minute

AN Fefad 1 vq.3ms. AT ¢ :
D §&car

2) gy

3) ATl

) faerest gfa fAee

Ques # :103

Which of the following nucleide shows branching decay ?
1) 2347

2) 238

3) 236Rg

4) 211g;

frafaf@a # & wia @1 =gFerss @ s waRia Fwars
1) 234

2; zssLh

3) 236R g

4) 211B;

Ques # :104

The last member of radioactive disintegration thorium series is :
1) 2241p
2) 232Th
3) 208pp
4) 212pp

AN fFea Ruea ARTH Ao F13fam AT &
1) 224Th
2) #2Th
3) 208pp
4) 2‘12|::b

Ques # :105

Obstruction in blood circulation may be diagnosed by injecting a salt containing :
1) 24pg

2) 32p

3) 80 g

4) 14(:

frafaf@a # & ) v aqor & a1y At alR & goiae (3Tee) i @ W& TR H

AT T 9T 9T ST HahaT ¢
1) 24Na
2) 32p
3) 80cq
4) 1c

Ques # :106
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If mass of a proton is p amu , mass of neutron is n amu and mass of a nucleus is N amu , then binding energy
of the nucleus is E amu x 931.5MeV , Here E is : (where Z = atomic number and A = mass number )

) [Zp + (A-Z)n] - N
2)Zp + N - (A-Z)n
3)N-[Zp + (A-Z)n]
4) [Zp + (A-Z)n] + N

ﬂﬁQ'EF Sl I g ATl p amu , Q'EFquEUIa'-l Gl g AT n amu WWHIIE-IEF Gl gcdHATA N amu %‘,
Y ATAF Y U ST E amu x 931.5MeV 8, T8 E 8 - (ST Z = IIHTI] HHTF T A = GeqHTA
TEATE)

1) [Zp + (A-Z)n] - N

2) Zp + N - (A-Z)n

3) N- [Zp + (A-Z)n]

4) [Zp + (A-Z)n] + N

Ques # :107

What is not correct for a nuclear reaction ?

1) It is related with radiations.

2) It must be balanced in terms of both mass and energy.

3) Energy changes in it are far large as compared to energy changes in chemical reactions.
4) It is influenced by external conditions like atmospheric pressure.

TH ATTRAT T FRF F ReFaradiadi g :

D 7 RfeRor a aesfg g |

2) 78 geasTet 3R Sl alelt Y T § Hford gl anfew |

3) gaa g aTel il IR, TaTafe SRR 3 Qo) aTer St IR 31 ool ¥ TgeT
HER A E |

4) 7z ared aR ATt S argHsRT aTe A Femfad eI ¥ |

Ques # :108

What is not correct for nuclear fusion ?

1) It occurs in the nuclei of light elements.

2) In such reactions percentage efficiency of the energy conversion is very high.

3) It can be initiated at any temperature .

4) Heavy nuclei are formed in such reactions apart from the release of heavy amount of energy .

AP Tl & AT FAT T AET§ 2

D) o1g gorsh dcal &A@l A @¥ar g |

2) it 3ifAfRan3it 7 St aRad= S gfaerd eraar 3t ST gl g |

3) 1 fordlt ofY AT o & T ST Wl § |

4) Y 3TATHATHT F FAT T Y AT Aehorat 3 3rerar Y AT & AT T |

Ques # :109

Temperature coefficient of the reaction is equal to :
( here k is rate constant at temperature T )

D ko s
kss
2) |
ka5
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3) ka'_ kza

=]

4) kE__ kEE

P |

TR &1 arEens HeAfaf@d & SRTeR glar §
(T8l ky a9 T o &1 @90« §)

Do ks

ks
2) k3s

ka5
3) kis — ko5
4) kza_ kaa
Ques # :110

Forthe following reaction selectthe chain propagation step
among the following :
Ha(g) + Bra(g) 8, an Brig)
D'H+HBr — Hy+ Br
2) Br+ Hp — HBr+H
3)H + Br, —» HBr+ Br
4) reaction Br+ H,— HBr+H & H + Bro—s HBr + Br Both

ferraAferfad 3rafhar & fOIT AEer-g=Ror 98 &1 Tde I

Hz(gﬁsz(g}@* 2HBrg)
1) H+ HBr — Hy + Br
2) Br+ H, — HBr+ H
3) H+ Bry —» HBr+ Br
4) srf#fear Br+ Hy, —> HBr+H @ H + Br, —»HBr + Br g1

Ques # :111

Half life time (t1) for second order reaction whose
2

initial concentration of reactantis 'a’':
1) 0.693
=
2 k
2
1
3) f=
- ka
4 1
) o —
z 2ka

gfadrr e &1 srfEfRar orad sfeens fr g
dedr ' a'h & o e g wE () §

1) 0.693
t1 =
Z k
2) 1= *u'E
2
3) 1
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4) 1

Ques # :112

At a given temperature , the rate constant of a given reaction , in general , is equal to the rate of the reaction
when :

1) all reactants are in same quantity.

2) all reactants are in same state.

3) concentration of all reactants is same .
4) concentration of all reactants is unity.

R i ot arg o, & 1€ TR RFAT 1 X o, o AR A T F R Aar g, I
D) geft 31feres G AT A gF |

2) gsh HTABRS GATH Jaear H gl |

3) gt R Y Higar GATT & |

4) o THFRERT T HigaT S1S &' |

Ques # :113

Unit for rate constant of zero order reaction is :
1) molTLs™

2) molL s

3) 5"1

4) molls

T FIfE JRRRAT & o1 Aaaisd F1AEF ST |
1) mol'Ls™

2) molL 15

3) g1

4) mollLs

Ques # :114

Zero order reaction means :

1) The reactants becomes zero at the end of reaction.

2) The molecularity of reaction is 1.

3) The rate of reaction is proportional to zero power of the concentration of reactant.
4) Rate constant is 1.

I Hife AfATFTFT IS T

D) sif&fear & 3ia 7 3iffers ra gt aa € |

2) 31T & JrorEEdr 1 g Y |

3) arfforar i &3 TR B HigdT A T G & FATTA I ¢ |
4) g3 feuRisr 1 @ |

Ques # :115

According to the salt effect , the rate constant will be independent of the charges on ions if :
1) the two reactant ions have positive charges.

2) the two reactant ions have negative charges.

3) one reacting ion has positive charge and the other having negative charge.

4) one reacting ion is reacting with neutral molecule.
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ST FHTT F ITAR , o Ui 3t ax 39Ty amaer & Faa+ g, afe; -
D) &) 31feRer 3t W A 3maer |

2) & 3PN AT 9T HUMcHS HEAE |

3) wh 31fHPRE T T UATeah AL § 3R gA T HOMcHS AU |

%) v 3iTRERE 3T e 0] & AR A @R |

Ques # :116

What is incorrect from the view point of the Collision Theory of chemical reactions ?

1) It is based on the kinetic theory of gases.

2) It assumes that reactant molecules are hard spheres and reactions occurs due to their collisions.
3) All collisions of reacting molecules result into products.

4) Increase in temperature increases the rate of reaction.

TrafaE AfAfRaEt & dazae Rga N A A FATTaT 8 ?

D) g 3t & sroperfer Rgid oX smenfa & |

2) g AT 31T § TR 31 RRF 3107 oK et § 3R 31fRFRAT 3oy caremt & FROTRIN Y |
3) 37ffeR IroT3HT T Tl A 3eurg T E |

1) q19 & g A AP Hrex T Y |

Ques # :117

What is not correct for the theory of absolute reaction rates ?
1) it may be represented as :

2) It was developed by Eyring and Polanyi in 1935.
3) It is also known as the Transition State Theory or the Activated Complex Theory.

4) The activated complex formed by the reactant molecules has low energy than the energy of reactants but more
than the energy of the products.

a7 AfATFIT T RgIaT & AT FAr A a8 & -
D) & faes v gaiar =i &ar ¢

2) ¢ 1935 3 3 Rer 3N e & T far |

3>WWWWWHWWHH@« e HFATH A N FAGTIATATE |

%) 31ffeRe 3T & T TR T T Fatl ATHFRDT T FaT F H gIell § o] 3Gl H Sl
q AF g B |

Ques # :118

Hydrolysis of ethyl acetate in excess of water in presence
of H" ionsis :

1)  zero order reaction

2)  second order reaction

3)  pseudo first order reaction

4)  none of these
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el & e § HY 3maa & sufeafa & ofae
UHeT FT I HIgET Bl b

D ez afe sfafwar

2)  efad s st

3)  ©eH gUH e AR

Y s A FS A

Ques # :119

Which of the following reactions corresponds to the definition of enthalpy of foramtion :
D Cig)+ Oz(q) —* COsq)

2) )+ Oz)—> COyg)

3) Cis)+ Oz(g) —>CO2(q)

Y C()+ Oz(5) — COz)

THTT Y Tl F graey A sla A rAFarad T
1) Cig)+ Oag) —* COyg)
2) Cig)+ Og) —» COgq)

3) Cs)+ Og(g) —»COgzq)
4) Cg)+ Ozg5) —> COqg)

Ques # :120

The species which has zero standard molar enthalpy of formation at 298 K is :
1) Brag)

2) Clag

3) HoOqy

4) CHyyq)

farafaf@a & & e Fr arers Ae) e tededt FT AT 298K WA &
1) Brag)
2) Cla)
4) CHyq)

Ques # :121
The enthalpies of combustion of carbon and carbon monoxide

are —393 5 and -283 K J/mol respectively. The enthalpy of
formation of carbon monoxide per mole is :

1) -676.5 kI
2) 676.5 kJ
3) 110.5 kJ
4) -110.5kJ

Flaed TUT Flad AlGIFHISS & goel o Todedl HAT: —393.5
dar —283 KJ/mol § | F1eT AlAIFAss & Tsfdel $T

TeRedr gfd #rer gl
1) -676.5kJ
2) 676.5kJ
3) 110.5 kJ
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4) -110.5kJ

Ques # :122

The enthalpy of neutralization of which of the following acid and base is nearly -13.6 Kcal :
1) HCN + NaOH

2) HCI + KOH

3) CH3COOH + NaOH

4) HCI + NH,4OH

AT A @ FH 3Fd TUT 8TRE Y SSTHANFI0T Ted el ST AT 9T -13.6 Keal ¢ :

1) HCN + NaOH
2) HCI + KOH
3) CH3COOH + NaOH

4) HCI+ NH4OH

Ques # :123

Berthlot's equation of state can be given by :

1) a ab
F’V=RT+F’I::————2
™V TV
2) a b
P‘J=RT+PI::——+—2
™V TV
3) a ab
PV=RT+Pb- — + ——
™V TV
4) a ab
P"J=RT+Ph+—+—2
™V TV

YT FT Ada) FHHIOT @ & :
a ab
)P‘J RT+Ph————2
™V TV
2) a b
PV=RT+Pb- — + p—
™V TV
3) a ab
PV=RT+Pb- — + —
™V TV
4) a ab

PV=RT+Pb+ — +——
™V TV

b

Ques # :124

Joule-Thomson expansion is :
1) Isobaric

2) Isenthalpic

3) Isothermal

4) Isothermal and Isobaric

ag-mm%:
D) gere

2) gATSed

3) geard

4) FHEATd qUT gHSET

Ques # :125
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Integrated Arrhenius equation helps us to :
1) find out order of the reaction.
2) find out energy of activation , if rate constant at two different temperatures is given.
3) know the molecularity of the reaction.
4) find out the rate of reaction at different temperatures.

TATF o IR fAaw gHleor g A FLdT ¥ :

D sfafrar S afe arg e 7 |

2) Gfaor Fai Ad e &, I &7 et gl ox o fis R |
3) TTRTHAT T ITUTHEIAT AT et A |

4) et arat o 3RfRT &X AT e #F |

Ques # :126

What is not true for thermodynamics ?

1) It is related to flow of heat.

2) It deals with energy changes accompanying all types of physical and chemical processes.
3) Its laws are applicable on matter in bulk as well as on individual atoms and molecules.

4) It helps in predicting the feasibility of a chemical reaction under the given conditions.

FEATTON F AT FTTH AL E 2

D 75 sAT & yag A T R |

2) g5 sl R & $iifae 3R Trarafeie wshat F g arel Solt IRade & IR H IaAr R |
3) saa e gaTe & 921 AT 3 1Y - A et T 3R ATt ¥ s e @ §
4) gg &) 7S ITEUT H TERHS JFTRTHAT T FEAeTdr adiel # Heg Hidr e |

Ques # :127

Heat Capacity of a system between two temperatures can be given by :

1) -
C(Tz:Tl} T T,-T,

2 Cer, /Ty = alT, - T
3) CTZ -T; = q(T:l - Tz]

4 _
) CTZJTI = q=xT,xT,

AT a9 & Aeg R aF A FATURAT A AT ITHFATR
1 _
)C(Tz,m =

T,—Ts
2) C(Tz /Ty) = q(T, - T,)
3) Cr, -7, =al1T, - T,)
Y Cr,r, = qxT,xT,

Ques # :128

Which statement related to thermodynamics is not correct ?

1) The difference between molar heat capacities of one mole of a gas at constant pressure and at constant volume
is equal to the gas constant.

2) First law of thermodynamics gives no idea about the direction of flow of heat.

3) Second law of thermodynamics helps to predict whether a given process or a chemical reaction can occur
spontaneously.

4) Heat is a typical form of energy , which can be completely transformed to work.
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FSARIGS ¥ Frafeud AafRf@a A d FlaarFaaT T aAgi g 2

1) T grer 31t e 3mardet o) fordlY 31 o Ueh Aot 1 Ao FeATRan3it & 37a} 3r e &
RIS EATE |

2) FSATITAHY T Ugell ToIIH &3 FSAT & Tgld o 82T & IR H IS ST A&7 T

3) FeATITAHT 1 gERT T2 gaf g ad=  Fge e & 3 o arar usher a1 T e o
graFdT g |

4) AT U AT gHR H St ¥, TR quT F9 & 1 F FIAROTET AT |

Ques # :129

Which of the following process is neither spontaneous nor irrreversible ?
1) Water flows down from a hill.

2) Zn(s)+ CuSO4(agq) — ZnS04(aq)+ Cu(s)

3) Diffusion of solute from a more concentrated solution to less concentrated solution , when these are brought
into contact.

4) None of these.

farafafaa & @ slawr yoa 7 o Faa: yafda sik 7 & srgepaoia § 2

D) St arer i iy 3R sgar § |

2) Zn(s)+ CuS0Og4(aq) — ZnS0O4(aq)+ Cu(s)

3) weh o o1 3170 Tifed o= & oo Tifgd ferae # fawRoT, 579 3! Tush & AT Sar g |

4) g1 § IS AL

Ques # :130

Assuming C,, to be constant within the temperature range T, and Tz |
the entropy change of n moles of ideal gas may be given as |

1) T, Vs
AS5=CyJdn— +RIn—
Tl 1"'irl
2) T, P,
AS5=CyJdn— +RIn—
Tl l::“1

3) TE VZ
AS=nCyJn{— ) +nRin|{ —

Tl Vl

4) T, P,
AS5=nCyn{—1] +nRIn| —

TZ PZ

aTcrqrmeﬂTTga:HﬁICvﬁﬁmmﬁgv,m‘rﬂHa:n
AT & v veodr afilaad & o9 R & @ar =1 9aar &
1 T, v,
AS=CJdn— +RIn—
Tl vl

2 T P
) AS =CJn—2 +RIn—2
Tl l::'1

3) TZ Vz
AS=nCyn|{—] +nRIn|{ —
Tl 1;"rl

4) T, Py
AS=nCyn{— 1] +nRIn | —
TZ PZ

Ques # :131

Reduction half cell reaction of H; — O, fuel cell is given by :
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D 2Hy(g) + 02(0) = 2H20()

2

) 0,(g) + 2H,00) + 4= = 40H
3) Hy+2e" —» 2H"

4) 2H*+20H = 2Hy0

Hy — 0, $oraF 39 & OT 3r9=ae sdurde sfifrar G=ffaa &
D) 2Hy(g) + 02(0) == 2H,0())

2 0,q) + 2H,00) + 460 = 40H-

3) Hx+2e —» 2H

4) 2H'+20H /= 2H,0

Ques # :132

Which of the following is used as anode in a commonly used mercury cell ?
1) Zinc-amalgam

2) carbon

3) paste of HgO and carbon

4) Zinc oxide

fArafaf@a & ¥ Fiaar, I T F 39ATT #F O S e #ATHED o F 0A1S F T FH R FIAT
g

1) fSie-3rarerere

2) arder

3) HgO 31X hTeieT & UEE

1) foier 3iferaTss

Ques # :133

What is not correct related to strong electrolytes ?
1) Arrhenius theory is proved to be valid when applied to strongly dissociated electrolytes.

2) Debye-Huckel theory of strong electrolytes assumes that strong electrolytes are completely dissociated in
solution.

3) Ions are not equivalent to molecules in their influence on thermodynamic properties.
4) Ions are not equivalent to molecules in their influence on transport of ions.

yao fASTd-3TUeT & AU A FAT WA G ¢ 2

D smfas Rgia o &g @11 & 51 yad e faegd srqaeat o o] fhar ST g |

2) yae faegd e T SATS-gahdl RAEId AT § foh faerast # vael faegd sroaea qoiaan
fTafaagrsmag |

3) FEATAT A UM I I TTT F AR , 37073 & Jed 6T & |

4) 3t & HTRATAT R 379 T 7 37T, L3 & JoT AET & |

Ques # :134
Which of the following step is not involved in rusting of iron ?

1) 2Fe?* (aq) + 2H,0(I) + %Dg (g) — Fep04(s) + 4H™(aq)
2) Fe(s) —* Fe?*(aq) + 2e

320,+26 —> 0%

4) Q5 (g) + 4H* (aq) +de= — 2H,0()
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AR &F FI A9 F AFfaf@d & ¥ wlarar @or enfAa agi g
1) 2Fe** (aqg) + 2H,0(1) +§02 (@) — Fey03(s) + 4H"(aq)
2) Fe(s) — Fe®* (aq) + 2e

3) 20,+260 —— 07

4) 05 (g) + 4H" (ag) +4e= — 2H50(1)

Ques # :135

An electrochemical cell represented by :
Zn(Hg)(azn=a4) | (Zn?*(az*) | Zn(Hg)(az, = az)
IS an example of

1) Electrode concentration cell

2) cell with transference

3) cell without transference

4) electrolyte concentration cell

Zn(Hg)(azv=a)| @%@z | Zn(Hg)(azn = as)
¥ veflid g1 arer Regavwatas da e seeror §
D goeels digar da

2) TRITHT o Al

3) e Raad

Y faegd ey HigdT A

Ques # :136

Which of the following is expected to have highest reduction electrode potential at 298 K ?
D 2H,0+ 2e" — H,(g) + 20H(aq)

2) 0y(Q)+ 4H™ + 4&7 —> 2H,0

3) 2H"+2e” — Ha(q)

Y Fylg)+2e0 —>2F

298 K R AF=faf@d & @ fhae srqays sawers fasra 3caaw smifaa g ?
1) 2H,0+ 26 — H,(g) + 20H(aq)

2) 05(9)+ 4H" + 40 — 2H,0

3) 2H*+ 2e= — Ha(g)

4) Fo(g)+ 26 —*2F

Ques # :137

Which of the following set of cell reactions is not written corretly ?
D Hy(g) — 2H"+ 2¢
Hg,Cls +2e” — 2Hg(l) + 2CI°
2) Zn(s)+ 40H" —> Zn05% + 2H,0 + 2e
HgO(s) + H,O +2e —*Hg(l) + 20H"
3) Al — > AP + 3¢
6Br-+ 3e—* 3B
4) Zn(s) — Zn%* + 2e
Cu?*2es —*Cu(s)
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frfafaa & d« s fwansit #1 Flaar wog @€ 70 & @ gan adie ?
1) Ho(g) —» 2H" + 2e
Hg,Cls +2e” — 2Hg(l) + 2CI°
2) Zn(s) + 40H" —* Zn0,% + 2H,0 + 2e”
HgO(s) + H,O +2e —*Hg(l) + 20H"
3) Al — > APF* + 3e
6Br -+ 3e"—* 3B
4) Zn(s) — Zn?" + 2e”
Cu*2e —*Cu(s)

Ques # :138

Azincrod is placed in 0.1 M solution of zinc sulphate at 25°C.
Ifthe salt is dissociated to the extent of 95 percent at this

dilution and E°(Zn* Zn) =-0.76 volt , then the potential of the
electrode at this temperature can be given as :

D _0.76 + 22%10g0.095 volt

2)  01x95 00591
+

log 0.76 volt

100
3) 01x8%5
o0 T log0.76 volt
4)  —076+ log2tx%= 10
100

v S FT o3 & 25°C W 0.1M &F Terthe Toas & 3@ ar ¢ |
e 59 degdr W @aur 95 ufcerd der d& f@mfaa gar & 3
E°(zn®, Zn) = —0.76 diee &, @' 59 99 W Soeds W faFa

& AT AT Fhar ©

D —0.76 + “==10g0.095 volt

2 1z :
) 0.1x95  0.0591 log 0.76 volt
100 2

3)  01x95
o0 T log0.76 volt

4)  —0764+ log2i*% Lt
100

Ques # :139

Most abundant element on the earth-crust is :
1) Fe
2) Al
3) Si
4)y O

H-T9EY F FEH T AT H GRIT A1 qTeAT Aeed © -
1) Fe
2) Al
3) Si
4)0

Ques # :140

In biological fixation of nitrogen , the nitrogen is initially converted into :

1) HNO4

2) HNO,
3) NOs
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4) NH;

ATSEISTeT & Sfae FHAHFHIOT & AT IR A Arafaf@a # aRafda g :
1) HNO;3

2) HNOs
3) NOs
4) NHs

Ques # :141

Exposure to vinyl chloride vapours carries a risk of following cancer :
1) Liver

2) Lung

3) Bladder

4) Marrow

aTEforel FARTSS a9 F TH1T & 3 A Ao f@d FI e FTERT AT
1) fyat

2) thpar

3) TR

) J—

Ques # :142

The average concentration of following constituents of photochemical smog is in the sequence given below :
1) CO=CQOs > CHy= 05
2)CHy>C0y > CO=> 04
3)COs>CO= 03> CHy
4) COy;=C0O=CHy= 03

TN AT 4 & HUCHI Y HAd AigdT 1 HA [AFafarad o ?
1) CO= Cﬁg} CH4:"63
2) CH4=C0QOy = CO = O
3) COs=CO =05 =>CHy
4) CDE} CO }GH4:=‘ Dg

Ques # :143

During ozone depletion process in nature by chlorofluorocarbons following free radicals are formed except
the :

Do

2 cio’

3 clo,’
4 clos

Yo F FARIFIHRIFET GaRT AT HITT A JFd AAF qe1d ¢, A eatfaiad & :
e

2) ciot
3) 1o
4 clos

Ques # :144

43/45



01/07/2016 College Lecturer Exam - Chemistry-I

Haemoglobin has about 210 times more affinity with the following gas than for oxygen ?
1) CO,

2) CO

3) S0,

4)  N»

graeefae # frafaf@a dw & wfa seyar sitedisrer A gorar & wersrer 210 AT IHAF 2

1) COs
2) CO

3) SO
4) N3
Ques # :145

Bhopal's Union Carbide Plant was a manufacturing unit for the following insecticide :
1) Methiocarb

2) Aldrin

3) Carbaryl

4) Dementon

HTeT T fATT FTe133 Tollee RFafaf@a feamedt F caree Fr s#1$ a1 2
D) s

2)13-%;[

3) epreier

1) R

Ques # :146

The greenhouse contribution of following gas is maximum :
) Os

2) CHy

3) CO

4) CO,

frafaf@a 3w #1 fagEw e gad T g :

1) Os
2) CHy
3) CO
4) CO,
Ques # :147

Stratosphere lies between :

1) troposphere and mesosphere
2) thermosphere and mesosphere
3) thermosphere and exosphere
4) exosphere and mesosphere

TAdIASA Sas ST gdare :
D) efrsrazer 3R Aegdsa
2) JAfERRT 3T ACTHT

3) iR 3R aRwts
4)
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igdsd IR AETHAs

Ques # :148

Which of the following set belongs to greenhouse gases :
1) COs, Cls, Ha

2) CHy, CO , 05

3) CO5, CHy, N2O

4) chlorofluorocarbons , NH5 , SOs

farafafea & @ slawr dc Aaesw dat #7182
1) COy, Clz, Hz

2) CHy4,CO, Oz

3) CO,, CHy, N2O

4) FeRIF3REE , NH3 , SO,

Ques # :149

In ozone layer a pollutant X under the infulence of ultra violet radiation form chlorine atoms , which react
with ozone molecules to form oxygen gas and Y molecules. X and Y respectively are :

1) CCIsF and CIO
2) CClsF and CI
3) CClyand CIO,
4) CClzF5and CIO

3N T H U g X T eret fafrvor & werra 7 FART wweATorsit F fAaTor wear g | S

St F 073t @ FAFHFAT FT ATl I Y F AT Taare | XA Y FAM:
1) CCI3F and CIO-

2) CClsF and CF

3) CClyand ClO,

4) CCloFpand CIO

Ques # :150

Following compound gives test of —-CHO group and —COOH group :

1) Succinic Acid
2) Formic acid

3) Benzoic Acid
4) Cinnamic acid

farafaf@a aiffies —CHO wHg dar —~COOH WHg &1 odiaior &dT &
) afFaias 3w

2) IfH 3T

3) Joilse® 3T

4) R 3
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